	x = Time Students Woke Up This Morning
	y = How Sleepy Students Are
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1. Find the mean, median, and mode of x.  Show your work below, and report your final answers in the appropriate boxes to the right.
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To find the median, we need to sort the observations:

6.50   6.75   6.75   7.75   8.00   8.50   8.50

Because n is odd, the median is the middle value 


	Mean: 7.54
	

	
	
	

	
	Median: 7.75
	

	
	
	

	
	Mode: 6.75 & 8.50
	

	
	
	

	
	
	


2. Find the mean, median, and mode of y.  Show your work below, and report your final answers in the appropriate boxes to the right.
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To find the median, we need to sort the observations:

1   2   2   3   3   5   6

Because n is odd, the median is the middle value
	Mean: 3.14
	

	
	
	

	
	Median: 3
	

	
	
	

	
	Mode: 2 & 3
	

	
	
	

	
	
	


3. Find the range, inter-quartile range (IQR), variance (s2x), and standard deviation (sx) of x.  Show your work below, and report your final answers in the appropriate boxes to the right.

	To find the range and IQR, we need to sort the observations:

6.50   6.75   6.75   7.75   8.00   8.50   8.50

           Q1                M                 Q3

[image: image7.wmf](

)

1

n

x

x

s

2

2

-

å

-

=

x



[image: image8.wmf]1

7

7.54)

(8.50

7.54)

(8.50

7.54)

(8.00

7.54)

(7.75

7.54)

(6.75

7.54)

(6.75

7.54)

(6.50

s

2

2

2

2

2

2

2

x

2

-

ú

ú

û

ù

ê

ê

ë

é

-

+

-

+

-

+

-

+

-

+

-

+

-

=



[image: image9.wmf]6

43

.

4

x

=

2

s

=0.74 ; 
[image: image10.wmf]=

=

x

2

x

s

s

0.86
	Range: (2) 6.5 to 8.5
	

	
	
	

	
	IQR: 1.75 (6.75 to 8.5)
	

	
	
	

	
	s2x: 0.74
	

	
	
	

	
	sx: 0.86
	

	
	
	

	
	
	

	
	
	


4. Find the range, inter-quartile range (IQR), variance (s2y), and standard deviation (sy) of y.  Show your work below, and report your final answers in the appropriate boxes to the right.

	To find the range and IQR, we need to sort the observations:

1   2   2   3   3   5   6

    Q1      M      Q3
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	Range: 5 (1 to 6)
	

	
	
	

	
	IQR: 3 (2 to 5)
	

	
	
	

	
	s2y: 3.14
	

	
	
	

	
	sy: 1.77
	

	
	
	

	
	
	

	
	
	


5. Produce the five-number summary of x, and use those numbers to draw a box plot of x. (2 Pts)
The five numbers are the minimum (6.50), the first quartile (6.75), the median (7.75), the third quartile (8.50), and the maximum (8.50).
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